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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP5 0

6.0 .
1
1
5.5 1 i
1
1
5.0+ 1
1
1
4.5 - 1
ol : minFVI
| minFVO0
1
3.5+ I
l
3.0 |
1
2.5 1 1
Warning: col ['minFVliraw', 'minFVOraw'] is missing :
2.0 !
1
2.5 1 1 1 1 1 1 1 1
L4 o ETcAlraw
°® ——  ETcAT
2.0 ° ® —@— ETcA

Warning: @| @
[ ] [ ]

Warning: col [ ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

4500 ECopt

ECC
ECI
ECO

4000

XX

3500

3000

* .
rﬂa'f...&‘m“'

‘el
N0 5> 2aisaa

|
1
1
1500—‘ !
1
1
I
1

&
»
)

1
'Y
Fl
)

1000

N A

PHopt
PHC
PHI
PHO

XX

31.5 1 —@— WCperM

31.0 A

30. 5

30.0 -WW

29.5 -

29.0
Warning: col [ WCperMraw', 'WCperMavg'] is missing
28.5

0.50 -H”“ﬂf““f“ﬂf”“f”“ﬂ%“ﬂfﬂm

—@— stdDeltaM

0.30 —mmﬂmmmﬂmﬂmwmw

1

|

1

|

|

1
)-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0- 00000000 00000000000000000000000000000000000000000000

1

1
1
1
0. 45 ~ 1
1
1
1
0. 40 1
1
1 —@— minDeltaM
0. 35 4 : —O0— avgDeltaM
1
1

0. 25 -

0. 20

maxM

tte

98 minM

30 7-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0- 0000000000000 0000000000000 00000000000000000000000000000
1
|
|
1
I
1
1
1

. 1

26 1

24

22 -

20
: ad JFVOR
0. 04 ~ :
1
1
1
0. 02 ~ :
1
1
1
0. 00 !
1
1
1
—-0. 02 ~ :
1
1
1
0. 04 1 Warning: col [ adjFVIRraw’', "adjFVIR', "adjFVORraw ] is missing :
1
1
1 1 1 1 1 1 1 1
lL4)ogoo0e ® FRA
[ ] FRC
"2 ([ ......... [ FRraw
® LAY P — FR
1.0- ® e

: —@— beg wc
1
1
1
58 i
1
1
1
1
56 !
54

52

0 10 20 30 40 50 60 70 80
700 ] 1 1 1 1 1 1 1 1

(] postFgEtraw
—@— postFgEtavg
—@— postFgEt

600 -

500 -

400 -

300 -

200 ~

100




FgDaily




< s | & < E J
SRR | <SSS b R = : -
P > N =3 b 2>
7 < — | | 2 ,
- /./V. ¢\/\\\mV. — = .Ax/ M\v
.M .M /r//V. HM/V. \/llvv. W —.
< N il il s il
e —e I —— I —— .n///., -
mv. .Av ﬂ\/\v. — —_ ]
1 > e <,
~ Z & < NN
el | w
| | =T .AMHHAN
B>, > By, L
5 N 3 =
Y ; ; ﬁ + - | ﬁ{ + x\% b4

00000000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000
55555555555555555555555555555555
11111111111111




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

1 1 1 | | 1 |
ETcl ETcldef ETcP ETcPT ETclis ESo ETol ETbai  pR pVPD VN | PPFD

T

1.0

0.8

0.6

0.4

-0.2



3000

2500

2000 -

ETcl

1500 -

1000 ~

500 -

1600 -

1400 ~

1200 -

1000 -

ETol

800 -

600 -

400 -

200

26 A

24 ~

22 A

20 A

18

16

14

12 -

90 A

80 A

70

RH

60 -

50

P J

3500

3000

2500

2000

N

=
1500 -
1000 -

500 -

°
°®
i °
°
. o
®eoe, ° ;:s °
(] .
o ° o0
oz0 %o )
() ®
¢ 1 %
®
[P
® LX) 05:6°
o e o | %
T T T T T
[ ] .
°®
o» °
[ (> [ J
v o0 ®
%ce o Ce®e® & o
L) ° e o &
.® © 1o Yo °
«® °
°
° i o ® o
1l @
L % )
o @ 1 o ©
° L [ ®
° °®
e o
T T T T T
7 °®
® o0 - e
»
o ©® . H
.3 .e. (] s
o © oy ... P
) 1 ..% %
® o «d o
e e ~e, e
° | ®o_ @
..
°® o
s °
8® ©
P e 0o o o
¢ %
° | e
° °
° ™
T T ™ 1 T
1T e
°
1% & @
°
&
(X

®

%

400 -
350 -
300 -
250 -
200 -
150 A
100 ~

50 A

[ 1
0% %%0

0

°
o °
- °
H
o ®°
° °
%
T
® o
° o ©
° L))
°
°
[ )
°
°
°
e o
Y
o O °
T
L) °
Y
®
[ ] ([ [ ] )
Y o
°
T T
1000 2000
ETcl

T
1000

ETol

70

RH

®
o D
6‘ 1 00 o °
°® i o0
° 1 e
e | o
T T T T T
80 90 0 1000 2000

VN

T
3000

200




4000

3000 -

2000

1000 ~

50

100 150

baiA

baiB

1.0

2.3924

-0. 0032

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2 0.4

0.6 0.8

1.

[
Q
o

0

3500 -

3000

2500

2000

1500 -

1000 -

500 ~

= Fit vs obs: a=1.04, b=-155.43

r=0. 81

1.0

500

1000

Fit

1500

2000

2500

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8

1.

0



hour

:20

:10

:55

140

125

:10

:00

:00

S & B A K e
‘3{%»’&\%-‘4%%%8&%&%\‘*
U Ut N N S D HRVS SN U U A N
%%%QQ\&&_@Q&%‘_@&

100

80

- 60

- 40

§_



P5

BYiE) | GEBAK () | ERE(EH/4R) | EREE (/R [ XS R

07:55 319 150.0 0.588 F|  FHAe07:55 KEIEFE (GRAEFESE)
08:45 319 150.0 0.588 F|  FiHA08:45 KENFRF (FAMERE)
09:35 319 150.0 0.588 & FiHfe09:35 KEIEF (KRFERES)
10:20 319 150.0 0.588 5 FEAe10:20 KEIEFE CGRAFESE)
11:10 319 150.0 0.588 =l FHEA@11:10 KENFZEF CGRAMEEEEE)
11:55 319 150.0 0.588 & FHEA@11:55 KEFEF (GRAHEEE)
12:40 319 150.0 0.588 F(  FiHRe12:40 KREFEF CGRAMEEE)
13:25 319 150.0 0.588 F(  FiHRe13:25 KREFEF CGRAERESE)
14:10 319 150.0 0.588 5| FHfe14:10 KREEF (KRAMEESE)
15:00 319 150.0 0.588 F|  FEAe15:00 KEIEFE CGRAFESE)
16:00 319 150.0 0. 588 & FiH#fe16:00 KFIEF (CREERKSE)
21t] 3509.0 (11%) 1650.0 3EWHKEC: 2080.0, PH: 6.5

RE K i3 [B] R ECEIR K.

HEEIKECE (2350. 0 vs 3240.0) R
RERIMAEBUR SR

REREBHHEREC/PHERK, AT




FRV (ml plant-1)

ET (ml/hr/plant)

P5_0, Day=63 (2025-06-06)

VI, VBJRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

792

00

00

1371

00

- 1500

- 1000

FRV (ml d-1)

- 500

optEC0=2600. 0, setECB=2080.0

optPH0=6. 5, setPHB=6.5

0.0

300 -

200 -

100 A

1.0

I

ByWoFv @D63 02:01: ET=1371 Fg=1650.0 Ro=216.0

A

$———————g————

o
—_
N
w
N
(S}
=2}
~
o0}
©

10

11

13

14

v

- 2000

- 1500

- 1000

cumET (ml/plant)

- 500

15

16

17

18

19

20

21

22

23

0.8 -

E3
B

™
T,
W
MI
f==1
T0h,
E=-1
Tt
™
T,
f==1
T,
f==1
T0h,
E=-1
Tt
™
T,
f==1
T,

E3
B

HEE

B

E3
B

=
B

£33
B

E3
]

E3
B

=
B

£33
B

E3
B

E3
B

0.6 1

0.4+

0.2~

0.0

800 {
600 -
400 -

200 -

A A WarRing: , 'PPFD_obs’] is missing

25 -

20 -

15 4

"To_obs'] is missing

100 4

80 -

60 -

—— RH Warning: col ['RH obs’, "RHo obs’] is missY

0.2 0.4

0.6

0.8

1.

0



hour

140

125

:15

:00

:50

:35

:50

:20

%,
&

100

80

- 60

- 40

§_

%

Q)
)_{?
5
N
-
4
%

%
L
—&&

Y

2
%
.

%5

2
>
L

&

£

%
o
%

)
-

4@

o %

%



P5

BYiE) | GEBATK () | ERE(EH/4R) | EREE (/R [ XS R

08:25 312 150.0 0.588 |Z=| 1Ri%e08:25 Bz (REERSE)
09:10 312 150.0 0.588 FE| {Ri%@09:10 Bz (GRAEEEE)
09:55 312 150. 0 0.588 FH| 1RRi%@09:55 Ba (FREAERSE)
10:40 312 150. 0 0. 588 FH| 1Ri%@10:40 Bz (REA1EREEE)
11:25 312 150. 0 0.588 FA| 1BRi&@11:25 B3h (RAHERESE)
12:15 312 150.0 0.588 FH| 1Ri&e12:15 Bz (REAERSE)
13:00 312 150. 0 0.588 [ =| {Ri&e13:00 Bz (FAFERHE)
13:50 312 150.0 0.588 |Z=| 1Ri%e13:50 Bz (GREERSE)
14:35 312 150.0 0.588 [Z=| 1BRige14:35 Bzh (REERESE)
15:50 312 150. 0 0.588 [ =| {Ri&e15:50 Bz (FAFERBE)
17:20 312 150. 0 0.588 |&Z=| 1Ri%e17:20 B (KREAEZERE)
21t 3432.0 (11%) 1650. 0 JEWHKEC: 2080.0, PH: 6.5

FE XK it [l RECEI R R 5% .

HEEIKECE (2352.0 vs 3240.0) R
RE R ERHHEREC/PHIE SR, AIAESLIMAREL R SR
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Warning: col ['M_E'] missing
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Warning: col ['M_E’] missing
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BflE) | GEBRAMK @) | ERE(ERH/ | EREE (/R [ XS R

07:15 288 150.0 0.588 F[ BRi&e07:15 Bz CGRAEREESE)
07:55 288 150.0 0.588 E| {Rige07:55 Bz (RAERSE)
08:35 288 150.0 0.588 F  BRi%e08:35 Bal (RAEREE)
09:15 288 150.0 0.588 =l {Rige09:15 B (RAERSE)
09:55 288 150.0 0.588 S| {Ri%e09:55 B (KRAERSE)
10:35 288 150.0 0. 588 F BRi%e10:35 Bz (GRAERESE)
11:15 288 150.0 0.588 =l Rige11:15 Hah (RAEESE)
11:50 288 150.0 0.588 =l RiBe11:50 Bz (REAEEE)
12:25 288 150.0 0.588 F BRige12:25 Bz (GRAERESE)
13:05 288 150.0 0.588 El BRi&e13:05 Bz CGREAEREE)
13:50 288 150.0 0.588 =l 1Ri%e13:50 B3 (RAERSE)
14:30 288 150.0 0.588 E BRige14:30 Bz (GRAERESE)
15:10 288 150.0 0. 588 El BRi&e15:10 Bz GRAEREE)
16:00 288 150.0 0.588 E {Ri%016:00 B3 (FRAAERSE)
17:05 288 150.0 0. 588 El {Rige17:05 B3 (RAERSE)
21t 4320.0 (15)%) 2250. 0 32 3KEC: 2080.0, PH: 6.5

RE K i3 [B] R ECEIR K.

HEEIKECE (2342.0 vs 3240.0) R
RE R ERHHEREC/PHIE SR, AIAESLIMAREL R SR
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ["M_E’] missing
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Warning: col ['M_E’] missing
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Warning: col ['M_E'] missing
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BflE) | GEBRAMK @) | ERE(ERH/ | EREE (/R [ XS R

07:15 283 150.0 0.588 F[ BRi&e07:15 Bz CGRAEREESE)
07:50 283 150.0 0.588 E| {Ri%e07:50 Bz (KRAERSE)
08:25 283 150.0 0.588 F  BRi%e08:25 Bal (RAEREE)
09:00 283 150.0 0.588 El 1BRi&@09:00 Bzl (RFAEREE)
09:40 283 150.0 0.588 S| {Ri%e09:40 B (KRAERSE)
10:20 283 150.0 0. 588 F BRi%e10:20 Bz (GRAERESE)
11:00 283 150.0 0.588 F {Ri%e11:00 Bz (GRAERSE)
11:35 283 150.0 0.588 Sl 1Rige11:35 B3 (RAERSE)
12:10 283 150.0 0.588 Fl BRige12:10 Bz (GRAERESE)
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13:30 283 150.0 0.588 =l 1Ri%e13:30 B3 (RAERSE)
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14:50 283 150.0 0.588 5| {Ri%e14:50 B3 (GRAERSE)
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16:40 283 150.0 0. 588 E {Ri%e16:40 B3 (KRAERSE)
21t 4245.0 (15)%) 2250. 0 32 3KEC: 2080.0, PH: 6.5

IE K i3 (B FRECE 1R SR 4K

HEEHECE (2325.0 vs 3335.0) RE
RE R ERHHEREC/PHIE SR, AIAESLIMAREL R SR



P5_0, Day=60 (2025-06-03)
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BflE) | GEBRAMK @) | ERE(ERH/ | EREE (/R [ XS R

06:05 273 150.0 0.588 [Z=| 1Ri%e06:05 Bzh (REERSE)
06:50 273 150.0 0.588 [Z=| 1BRiZe06:50 Bzh (RHEEREE)
07:35 273 150.0 0.588 F  BRi&e07:35 Bz (REERESE)
08:30 273 150.0 0.588 & {RiZe08:30 B (RAEREE)
09:20 273 150.0 0.588 =l RRi8009:20 B (RFAEEE)
10:00 273 150.0 0. 588 F BRi%e10:00 Bz (GRAERESE)
10:40 273 150. 0 0.588 = Ri80@10:40 Hah (RAEESE)
11:25 273 150.0 0.588 =l Rige11:25 Bah (REAEREE)
12:20 273 150.0 0.588 F BRige12:20 Bz (GRAERESE)
13:00 273 150.0 0.588 [Z=| 1BRiBe@13:00 Bzh (REEREE)
13:35 273 150.0 0.588 [Z=| 1BRige13:35 Bzh (REERESE)
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15:45 273 150.0 0.588 |Z=| 1Ri&e15:45 Bzl (GRAEESE)
16:55 273 150.0 0.588 [Z=| 1BRige16:55 Bzh (REERESE)
21t] 4095.0 (15)%) 2250. 0 32 3KEC: 2080.0, PH: 6.5

#[ERECE (2260.0 vs

3293.0) RS
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